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(1) ZEhteti(v) WTHEOEREIZED v = 10 %
(2)EE T8 (m)

. 0.85-SL _ 2 _ SL _ 2

mi1 = . 3oV = 32.8 N/mf m2= . R = 33.8 N/mf
100 100
Xo>T m = 33.8 N/of

(3)KEAV FEE(W/C) m = -17.7 + 26.9 X C/W
W/C = 26.9 + (33.8 + 17.7) X 100 = 52 % = [55%(LBE1 )]

“W/C = %
(4) BfKE (W) ERRES ([ ot@ W = 174 ke /mi
(5)HfSrE A F&E(C) C =W+ (W/C) X 100 = 174 = 52 X 100 = 335 kg/m
Cv= C + % = 335 ~ 3.04 = 110 2 /m
(6) 2254 (A) A = 4.5 % X 1000 = 45 2 /m

(7)BNCHEME(G) HBILLOERKICELY MNEEFE = 0.600 m/m EFER = 59.0 %
Gv = 0.600 X 1000 X 59.0 = 100 = 354 £ /m
Glv = Gv X 45.0 % = 159 ¢ /m Gl= GIvXEWEE = 159 X 2.65 = 421 kg/m
G2v = Gv X 55.0 % = 195 2 /m G2= G2yXHKWEE = 195 X 2.65 = 516 kg/m
(8) L HE# = (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 683 = 317 £ /m
Slv = Sv X 65.0 % = 206 £¢/m S1= SIvXEWEE = 206 X 2.57 = 529 kg/m
S2v = Sv X 35.0 % = 111 2 /m S2= S2yXEWEE = 111 X 2.63 = 292 kg/m

(9)MEM=E(s/a) s/a = Sv = (Gv+Sv) X 100 = 47.2 %
(10) B yEFn A% (Ad) Ad = C X INE = 335 X 0.80 % = 2.68 kg/m
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